
 

 
 

 

S
 

T

s

t

w

T

 

S
 

 

w

e

W
c
c
w

 

Co
 

The dev
This imp

Note: W
Service

Cor
In this p

The dat
UK Dat
size an
promise
identifie
the resu
Living C
which u

To do th

SPSS w

Becaus
what is 
increas
expend
possibly

We wa
coefficie
correlat
whethe

1. Se
2. Se
3. Co
4. Co

Ax
5. Cl

rre

velopme
plementa

Weights
e webs

rrela
practica

taset we
ta Servic
d total h
ed that 
ed by th
ults pro
Costs a
users ne

his we w

will then

se there
going o
es, ther

diture a
y a few 

nt to te
ents for
tion req
r a norm

elect Sc
elect Sim
opy the 
opy the 
xis box.
ick on t

elati

nt of this
ation is b

s have 
ite. 

ation
al we wil

e are us
ce: http
househ
their d

heir larg
oduced i
and Foo
eed to re

will beg

n draw a

e are on
on. How
refore lo
associat
more p

est whe
r differe
quires th
mal dist

catter/D
mple Sc
Total e
House

.  
he OK 

ion

s E-Boo
by Natio

not bee

n pra
ll invest

sing is a
p://doi.or
old exp

data wil
ge hous
in this w
od Surv
egister 

in by si

a scatte

nly 5 po
wever th
ooking a
ted with

points in

ether an
nt situa
he varia
tribution

 

Dot from
catter an
expend
hold si

button.

s in

ok has b
onal Cen

en appl

actic
tigate w

an exce
rg/10.52

penditur
l be ke
ehold s
workboo
vey, wh
and ad

mply plo

erplot of 

ossible v
he great
at the sc
h larger 
 the bot

ny corre
ations. T
ables to
n is suita

m the Le
nd click
iture (to
ze, num

n SP

een sup
tre for R

lied to t

cal
whether 

erpt from
255/UK
e (in po

ept conf
sizes or 
ok. Use
hich is a
here to 

otting th

the two

values 
test con
catterpl
values 

ttom-lef

elation w
The firs
o be co
able. 

egacy D
k on Def
op cod
mber of

PSS

pported b
Research

the ana

there is

m a cut-
KDA-SN-
ounds p
fidential
unusua
rs who 
availabl
some c

he two v

o variab

of hous
ncentrat
lot there
of hhs

ft and to

we obs
st correl
ontinuou

Dialogs
fine to b
ed, form
f peopl

S (P

by the B
h Method

alyses. 

s a relat

-down d
-7932-2

per wee
l. As a 
ally high
wish to
le throu
conditio

variable

bles whi

sehold s
tion of v
e appea
size (an
op-right 

erve in
ation co

us and, 

availab
bring up
merly P
e in ho

Prac

British Ac
ds and U

You ca

ionship 

dataset 
2, and w
k). No c
result 

h expen
o use be
ugh the
ns of us

es in SP

ch can 

size and
values f
ars to be
n upwar

quarter

 the sc
oefficien
in sma

ble from
p the Sim
P550tpr
ousehol

ctic

cademy
UK Data

an find 

betwee

drawn f
we will b
conditio
high va

nditure. 
etter qu
e UK Da
se. 

PSS: 

be seen

d there 
for expe
e a posi
d slopin
rs of the

catterplo
nt that w

aller sam

m the Gr
mple Sc
r)[expen
ld (reco

cal) 

Service

out mo

en two v

from the
be explo
ons are 
alues a
This pr
ality da
ata Ser

n below

are a l
enditure
itive cor
ng relat
e plot. 

ot is sig
we will 
mples, t

raphs m
catterplo
nditure

oded) fo

 

e 

ore abo

variable

e Living
oring the
required
re grou
rotects r
ata are e
rvice (h

w: 

ot of ob
e do see
rrelation
ionship

gnificant
look at
to be n

menu.  
ot windo
e] variab
ormerly

Centre
Multile
Model

out weig

es by loo

g Costs 
e chara
d to use

uped tog
respond
encoura
http://do

bservati
em to in
n betwe
) but th

t but th
t is the 
normally

ow. 
ble into 
y A049r

e for  
evel  
lling 

ghting s

oking ho

and Fo
cteristic
e the da
gether 
dents b
aged to 
i.org/10

ions, it 
ncrease 
een the v
is relati

here are
Pearso

y distrib

the Y A
r[hhsize

survey 

ow corr

ood Surv
cs of two
ata; how
to prev
ut it als
explore

0.5255/U

is quite
somew

variable
ionship 

e sever
on corre
uted so

Axis box
e] varia

data o

related t

vey, ava
o variab
wever re
vent hou
so affect
e the fu
UKDA-S

e difficul
what as 
es with 
is not t

ral diffe
elation c
o we wi

x. 
able into

n the U

they are

ailable f
bles; ho
espond
usehold
ts the q
ll data f

SN-7702

lt to see
househ
larger v
that stro

rent co
coefficie
ill firstly

o the X 

UK Data

e. 

from the
ousehold
ents are

ds being
quality o
from the
2-1), fo

e clearly
hold size
values o
ong with

rrelation
ent. This
y look a

a  

e 
d 
e 
g 

of 
e 

or 

y 
e 

of 
h 

n 
s 

at 

https://www.ukdataservice.ac.uk/using-survey-data/data-analysis/survey-weights
https://beta.ukdataservice.ac.uk/datacatalogue/doi/?id=7932#!#2
https://beta.ukdataservice.ac.uk/datacatalogue/doi/?id=7702#!/1


1. Select Descriptive Statistics from the Analyze menu.  
2. Select Explore from the Descriptive Statistics sub-menu.  
3. Click on the Reset button. 
4. Copy the Total expenditure (top coded, formerly P550tpr)[expenditure] and Household size, number of 

people in household (recoded) formerly A049r[hhsize] variables into the Dependent List: box. 
5. Click on the Plots... button. 
6. On the screen that appears select the Histogram tick box.  
7. Unselect the Stem and leaf button. 
8. Select the Normality plots with tests button.  
9. Click on the Continue button. 
10.Click on the OK button. 

To do this we need to the following in SPSS: 

 

This set of instructions will create a whole list of outputs - both tables and figures - in SPSS. We will focus on two figures each for 
our two variables and then one table. 

We will first look at a histogram of the variable, expenditure. This can be found in amongst the set of output objects and looks as 
follows: 

 

Ideally for a normal distribution this histogram should look symmetric around the mean of the distribution, in this case 479.7584. 
This distribution appears to be significantly skewed to the right (positively skewed) and there is one maximum value that stands 
out as containing a disproportionate number of cases. This is an artefact of high values of expenditure being grouped which 
reduces the overall accuracy of the data and results in an underestimate of overall expenditure. 

We will next look at a histogram of the variable, hhsize. This can also be found in amongst the set of output objects and looks as 
follows: 

  

 



Again for a normal distribution this histogram should look symmetric around the mean of the distribution, in this case 2.33. This 
distribution appears to be significantly skewed to the right (positively skewed). 

We will next look at statistical tests for the two variables to see if they back up our visual impressions from the histograms. 
 

The Kolmogorov-Smirnov test is used to test the null hypothesis that a set of data comes from a normal distribution. An alternative 
test derived by Shapiro and Wilks is sometimes also available in SPSS but will not be described here. The available test statistics 
are presented in the table below that will be amongst the outputs from the Explore command: 

 
Tests of Normality 

 

Kolmogorov-Smirnov a 

Statistic df Sig. 

Total expenditure (top coded, formerly P550tpr)                       .085 5144 .000 

Household size, number of people in household (recoded)formerly A049r
 .261 

5144 .000 

a. Lilliefors Significance Correction 
 
 

The Kolmogorov Smirnov tests produce test statistics that are used (along with a degrees of freedom parameter) to test for 
normality. Here we see that the Kolmogorov Smirnov statistic takes value .085 for expenditure and value .261 for hhsize. The 
test has degrees of freedom which equals the number of data points, namely 5144. 

For expenditure we see the following: The p value (quoted under Sig. for Kolmogorov Smirnov) is .000 (reported as p < .001) 
which is less than 0.05. We therefore have significant evidence to reject the null hypothesis that the variable follows a normal 
distribution. 

For hhsize we see the following: The p value (quoted under Sig. for Kolmogorov Smirnov) is .000 (reported as p < .001) which is 
less than 0.05. We therefore have significant evidence to reject the null hypothesis that the variable follows a normal distribution. 

Although the Kolmogorov Smirnov test tells the researcher whether the distribution followed by a variable is statistically 
significantly different from a normal distribution, one should take care in not over interpreting such findings. Significance will be 
strongly affected by the number of observations and so only a small discrepancy from normality will be deemed significant for very 
large sample sizes whilst very large discrepancies will be required to reject the null hypothesis for small sample sizes. In addition, 
Pearson's correlation will be robust to non-normality in the data when samples are very large, as is the case here. 

To complete our normality checking SPSS also produces Quantile-Quantile (or QQ) plots. We can see the one for expenditure 
below: 

 

QQ plots can be used to compare the distribution of a variable with a chosen distribution (typically a normal distribution as we are 
doing here). The data are plotted against a theoretical normal distribution (with the same mean and variance as the sample data) 
in such a way that the points should form an approximate straight line. Departures from this straight line indicate departures from 
normality. As we found a significant effect in the Kolmogorov Smirnov test for expenditure we should see the points diverging 
from the line in the plot above with either some outlying values lying away from the line or even the shape of the points forming a 
non-linear pattern. 

Similarly for hhsize its Quantile-Quantile plot can be seen below: 



1. Select Bivariate... from the Correlate option available from the Analyse menu. 
2. Copy the Total expenditure (top coded, formerly P550tpr)[expenditure] and the Household size, number of 

people in household (recoded)formerly A049r[hhsize] variables into the Variables box. 
3. Click on the Options button and Select the Means and Standard deviations tick box.  
4. Click on the Continue button to return to main window. 
5. Click on the OK button. 

 
 

As we found a significant effect in the Kolmogorov Smirnov test for hhsize we should see the points diverging from the line in the 
plot above with either some outlying values lying away from the line or even the shape of the points forming a non-linear pattern. 

We will now finally turn our attention to the main topic of this practical which is the calculation of the correlation between our two      
variables. SPSS offers several correlation coefficients and we will consider these here in turn. All three are available through 
the Analyse->Correlate->Bivariate option in SPSS. 

 

The correlation command will produce two output tables. The first table which we show below simply gives means and standard 
deviations for the two variables we are comparing. 

 
Descriptive Statistics 

 

Mean Std. Deviation N 

Total expenditure (top coded, formerly P550tpr) 479.7584 292.36523 5144 

Household size, number of people in household 
(recoded)formerly A049r 2.33 

1.196 5144 

 

In the next table we see the correlation matrix for the variables we are considering: 
 

Correlations 
 

Total expenditure (top coded, 

formerly P550tpr) 

Household size, number of people in 
household (recoded) formerly A049r 

 

Total expenditure (top coded, formerly 
P550tpr) 

Pearson 1 

Correlation 

.449 ** 

Sig. (2-tailed) .000 

N 5144 5144 

Household size, number of people in 

household (recoded) formerly A049r 

Pearson .449 
** 

Correlation 

1 

Sig. (2-tailed) .000 

N 5144 5144 

**. Correlation is significant at the 0.01 level (2-tailed). 
 
 
  



1. Select Bivariate... from the Correlate option available from the Analyse menu. 
2. Check that the Total expenditure (top coded, formerly P550tpr)[expenditure] and the Household size, number 

of people in household (recoded) formerly A049r[hhsize] variables are still in the Variables box. 
3. Deselect the Pearson tick box.  
4. Select the Spearman tick box.  
5. Click on the OK button. 

The Correlate option can be used for more than two variables simultaneously and will then give all correlations hence the output 
table is in this matrix format. The table contains three numbers for each possible correlation (including the correlations of variables 
with themselves which always takes the value 1). For each correlation there is an estimate of the correlation, an accompanying p 
value and a sample size on which the correlation has been calculated. Here we are interested in the Pearson correlation 
between expenditure and hhsize which can be found in two places in the table - either in the row for expenditure and column 
for hhsize or the row for hhsize and column for expenditure. Note that the SPSS table repeats exactly the same information 
twice, but in the write-up of results it should only be reported once! 

In this case the correlation (reported as the statistic r) takes value .449. The widely-used rules specified by Cohen regard a 
correlation of r =.1 as small, r =.3 as moderate, and r =.5 as large. Here, then, we see a moderate positive correlation. The 
correlation is given in the table, along with a significance value and a sample size which in this case is 5144. This is the number of 
observations in which both expenditure and hhsize where observed. 

We can test if this correlation is significantly different from zero which will depend on (i) the magnitude of the correlation and (ii) 
the number of observations on which the correlation is based. 

The p value (quoted under Sig. (2-tailed)) is .000 (reported as p < .001) which is less than 0.05. We therefore have significant 
evidence to reject the null hypothesis that the correlation is 0. 

We would report the result as follows: The variables expenditure and hhsize were significantly and moderately positively 
correlated r = .449, N = 5144, p < .001. Note there is no need for a table when reporting a single correlation. 

The Pearson correlation coefficient is appropriate to use when both variables can be assumed to follow a normal distribution or 
when samples are very large. 

If this is not the case then an alternative is the Spearman rank correlation. This correlation works in much the same way as the 
Pearson coefficient but is calculated on the ranks of the data points rather than the points themselves. To calculate the Spearman 
correlation we need to return to the Bivariate screen and do the following: 

 

In the table produced we see the correlation matrix for the variables we are considering: 
 

Correlations 
 

Total expenditure (top coded, 

formerly P550tpr) 

Household size, number of people in 

household (recoded)formerly A049r 

 

Spearman's 

rho 

Total expenditure (top coded, 

formerly P550tpr) 

Correlation 1.000 

Coefficient 

.519 ** 

Sig. (2-tailed) . .000 

N 5144 5144 

Household size, number of 

people in household 

(recoded)formerly A049r 

Correlation .519 ** 

Coefficient 

1.000 

Sig. (2-tailed) .000 . 

N 5144 5144 

**. Correlation is significant at the 0.01 level (2-tailed). 
 

For each correlation there is once again an estimate of the correlation, an accompanying p value and a sample size on which the 
correlation has been calculated. Here we are interested in the Spearman correlation between expenditure and hhsize is 
repeated in two places in the table - either in the row for expenditure and column for hhsize or the row for hhsize and column 
for expenditure. 

In this case the correlation (reported as the statistics rho) takes value .519. This represents a large positive correlation. The 
correlation is given in the table, along with a significance value and a sample size which in this case is 5144. This is the number of 
observations in which both expenditure and hhsize where observed. 

We can test if this correlation is significantly different from zero which will depend on (i) the magnitude of the correlation and (ii) 
the number of observations on which the correlation is based. 

The p value (quoted under Sig. (2-tailed)) is .000 (reported as p < .001) which is less than 0.05. We therefore have significant 
evidence to reject the null hypothesis that the correlation is 0. 

We would report the result as follows: The variables expenditure and hhsize were significantly and positively correlated r = .519, 
N = 5144, p < .001. 

  



The third possible correlation is known as Kendalls Tau-b and has desirable properties when the variables take values that are 
ordered categories (i.e. ordinal variables). To calculate the Kendalls Tau-b we need to return to the Bivariate screen and do the 
following: 

 
 
 
 
 
 
 
 

In the table produced we see the correlation matrix for the variables we are considering: 
 

Correlations 
 

Total expenditure (top coded, 

formerly P550tpr) 

Household size, number of people in 

household (recoded)formerly A049r 

 

Kendall's 

tau_b 

Total expenditure (top coded, 

formerly P550tpr) 

Correlation
 1.00
0 

Coefficient 

.397 ** 

Sig. (2-tailed) . .000 

N 5144 5144 

Household size, number of 

people in household 

(recoded)formerly A049r 

Correlation .397 
** 

Coefficient 

1.000 

Sig. (2-tailed) .000 . 

N 5144 5144 

**. Correlation is significant at the 0.01 level (2-tailed). 
 
 

As in the previous correlation tables, for each pair of variables there is once again an estimate of the correlation, an 
accompanying p value and a sample size on which the correlation has been calculated, all repeated in two places in the table. 

In this case the correlation (reported as the statistic tau) takes value .397. This represents a moderate positive correlation. As 
before, the correlation coefficient is accompanied by the sample size used in the calculation and the significance value will depend 
on (i) the magnitude of the correlation and (ii) the number of observations on which the correlation is based. 

The p value (quoted under Sig. (2-tailed)) is .000 (reported as p < .001) which is less than 0.05. We therefore have significant 
evidence to reject the null hypothesis that the correlation is 0. 

We would report the result as follows: The variables expenditure and hhsize were significantly and moderately positively 
correlated r = .397, N = 5144, p < .001. 

This ends our practical on correlations. 

1. Select Bivariate... from the Correlate option available from the Analyse menu. 
2. Check that the Total expenditure (top coded, formerly P550tpr)[expenditure] and the Household size, 

number of people in household (recoded) formerly A049r[hhsize] variables are still in the Variables box. 
3. Deselect the Spearman tick box.  
4. Select the Kendall tau-b tick box.  
5. Click on the OK button. 


